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flag 6413 2645 I

a t2



D
inverse of F : (y,x)



B (2)^3 -1/(2-1)
8 - 1 / 1 
7/1 = 7 



C supplement=180
180 = 20 + x 
180 - 20 = x 
160 = x 



D Complement = 90 
90 = 60 + x
90 - 60 = x
x = 30



A
x^2 - y^2 = (x-y)(x+y)
(x^(1/2) -3)(x^(1/2)+3)
x^(1/2)^2 - 3^2
x^(1/2 x2) - 9 
x - 9



C logx y = z -> x^z = y 
 y = 3^(x-1) -> log3 y = x-1
1 + log3 y = x 



D



5^x = a 
in 5^x = in a 
x in 5 = in a 
x = in a / in 5

B



B sin^2 + cos^2 = 1



A

Type text here

f(x) = -a^x 
if 0 < a < 1 
then it's increasing

f(x) = -a^x
if a > 1
then it's decreasing





B



A



D
(√2)^3-5x = 4^(a+x)
(√2)^2(3-5x) = 4^2(a+x)
2^(3-5x) = 4^2(a+x)
2^(3-5x) = 2^2*2(a+x)
2^(3-5x) = 2^4(a+x)
3-5x =  4(a+x)
3-5x = 4a +4x
3-4a = 9x
(3-4a)/9 = x
3/9 - 4a/9 =x
1/3 - 4/9 a = x 



B



C
Any function with ^2 is not one to one



C



A



B



B We know that 2 is not in soultion set 
to find a we should replace x by 2 
4*2 - 8 = 0 , then a>0 , 0 is a number which doesn't 
satisfy the equation. 



C



B
if there's x^2 then 
this is not one to one.

we use the number that 
gives x^2=0 

remeber a shoul be POSITIVE
a > 0



C
(a^4)^3 + 2(a^4)^2 - 1

a^(4*3) + 2(a)^(4*2) - 1

a^12 + 2a^8 - 1



D

Lim+ = lim- 

lim x-> -3+ (x+3)/(x+3) 
lim x-> -3+ = 1 

lim x-> -3- (-x-3)/(x+3)
im x-> -3- -(x+3)/(x+3)
im x-> -3- = -1

lim+ =/ lim - 
SO it doesn't exist



C



C



C



A



A
y = mx + b 
b is horizontal asymptote



Type text hereA
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B



C



B



B
1-sin^2 = cos^2
1- (4/5)^2 = cos^2 
9/25 = cos^2 
 √(9/25) = cos
cos = 3/5



B



C



C



C y = mx + b 
m is slope

-4y = -8x + 28 
y = -8/-4 x + 28/-4
y = 2x - 7



C



C





B
logx y = z -> x^z=y 
x^2 = 2x^2 - a^2 
a^2 = x^2 
          x = a 



C



B



B





B



D



C



C



D



C



A



A



D



C



B



D



D



D
Cot = cos / sin
1-sin^2 = cos^2 
1-(4/5)^2 = 9/25 
 √9/25 = 3/5
cot = (3/5)/(4/5) = 3/4



C



D



B
slope for any x = c 
it's undefined



C



D
x = a+by / b-ay (multiply by (b-ax))
x(b-ay) = a+by , bx - xay = a+by (let y togather) 
bx - a = xay + by , bx-a = y(xa+bb) (devide by xa+b) 
y = bx-a / ax+b
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D



C



B



C



D



C using cacluator 
Mode: 7 
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D



C



D



A



A



B



C



Type text hereA
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C



D



A



C



D



C
2a ≤ 2x-2 ≤ -2a
2a+2 ≤ 2x ≤ -2a+2
(2a+2)/2 ≤ x ≤ (-2a+2)/2
2(a+1)/2 ≤ x ≤ 2(-a+1)/2
a+1 ≤ x ≤ 1-a 



A kx-k = 4 
k (3) - k = 4
k (3-1) = 4
2k = 4 , k= 2



A By calculator 
zw/z = w
(-14+2i)/(-3+4i)



D



B



A



C



D



B



C
6(2x-2)=2-2x 
12x-12=2-2x
12x + 2x = 12 +2
14x = 14 , x=1
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C



A L right =\ L left



C



B



C



B





C





B
log2(x*(2x-1)) = 2 log2 (2-x)
log2 (2x^2 -x) = log 2 (2-x)^2 
2x^2 -x = 4 - 4x +x^2 , (x-y)^2 property 
x^2 -4x +4 = 2x^2 -x -> 2x^2 - x^2 -x +4x -4
x^2 +3x -4 = (x+4)(x-1) , x=-4 , x=1
there's NO MINUS number in log so the 
solution set is {1} 
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D



B



A





D



B



A
logx y = z -> x^z=y 
a log x y -> log x y^a
log 2 x^2 - log2 (4x+5) = 0
log 2 (x^2 / (4x+5) = 0 
x^2 / (4x+5) = 2^0 
x^2 / (4x+5) = 1 (multiply by 4x+5)
x^2 = 4x+5 -> x^2 -4x -5 = (x+1)(x-5)
x = 5 , x = -1 becuse it's a logaritm so 
we only take the positive number (5)
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